Foundation Engineering

2021-2022
a1 & ool
“Bearing Capacity
Lozl 828"
~ | Dr.Maiasa Mlhem pado auwlio.>




heaving

Settiement

N ”

Load

General Shear Failure

ol ol ;L

2/20/2022

Local Shear Failure

Nexod| yaddl )Ll
minor heaving
257 s
W EIMONS, S
Load

——Tirst *failure’

-'stick-ship’

Settiement

LV bloil

Setticment

Punching Shear Failure

il yas Ll



:Gross Bearing Capacity (qgmss) .
B P+y. >“DO *B*L"'?/c *t*B*L

q gross B N L



(q.)) :Allowable Bearing Capacity a>gowuodl @il Joxi 6,9 °

qmt
F.S.

4.1 =

*D aslall aa=dl ayull Joxi 8,09
:Net Ultimate Bearing Capacity

qult.—net — Qult 7/

—v*D . . . .
g =277 a,elall a>goumod]l @il Josd 6,18

F.S. : :
:Net Allowable Bearing Capacity

— qm.
Qa//.—net o FZS, o }/ * Df

2/20/2022



tOLlwlw)l puowai 9 UVl Jolgc
e dois aiewd sl Ul 2.5-3 w 2ol dsle UVl Jole doud Ul ¢
ol)laeVl o sac

a0, (9 Lasll doglis e Sao

Guir oudy §uislly @,dl Yoles dxo Sao

bl ddoc axui anyidl poles (08 il e

oVl Jle Lol gl 8505 e auss woadl @l alsSJl
Lol s @0l (gubaig sdiolaw] bgapll Linioll duosl *

2/20/2022



2/20

/2022

Jozidl 6,48 wldllaio

SOWJI gosJle
o laidl boapll
5Vl Ao Ulo VI
LC 9dg -

DbVl oo Gacyr e 8,
vVl o> (89 s
bVl s dnclil @,

9

gl

il e



Jocudl 6,18 (sle 8,560)1 Jolgsll

(8SShn ol aSwlosn) éu,il ggi e

ol il sl lell Jio o ulbwil asliall wlaslell »
Sgluusl|

oz Ul Lavol) (Sou Sl wslolaily ISl bgapll doys
ol dogling @Sl Jio du,ull @l sl wlavlgoell «
.9g=J| olodl a=>lgi 99,k

0,3l (9 acwlwVl wlslp=Vl e

2/20/2022



8

@il Lo 6,49 (ole adgx)l ool il

Case (3)
Case (4)
Case (3)
Case (2)
VoW
L A v Case (1)

2/20/2022

obodl ;56 Ll ©
6,19 Aoud (sl a99=l
I,b dac au,ull Joxi
raJldl asy bl Lo S0
sloicl Sou tada>o)

15| J=el) sl dan,b

Lihio @guso cuilS

&>l 0l (89 659>g09

(30u20]| ol




Jozil 6,28 sle dudg=l oleol) 15U a>g V 1 sJoVl &Ll Case 1
raull]l dl=Jl Case 2

s32)l o ¥, paZious (pulwVl Joig B a2l Gur &89l oluoll gogis ¢
> Joill 8,35 dslao Lo 057 FBAN,

Var. = 7/’%%)*(7% -7
) byl (o=l Ul e
YSat_vacet =&yl y9020ll (o=l Vgl ¥
owlwll o wu=i au9g=dl olodl (goc d,

2/20/2022



asJlldl adl=Jl Case3 -

Y oo Y ¥ s wlw)l Jo dic @89zl olodl gogis lodic *
ael )l al=)| Case 4

owlwVl Joi g dusudall 4o,V abaw o 899! oluoll Riogss
SENFRVAR-T TR

q9=7t l)](abo10 W ]"/ 4 l)-(behN1 .

I
r - AT
y:yinijAy

s oo 2l all=Jl- Case g »
ool oS poei duzudall (o, VI adaw dic @991 sluoll gio ¢

. .
y:y'n77ythy q:7/l2f

2/20/2022



v,

2/20/2022

Qidoio Wi e gaaaw W
1 D=0 aSuwloio Ui (ol Luuaw il -1 i

(C,/C, <1) LinJl @sdall (o o8l We)l @suall 0gSs Losic »

(C,IC>1) wsdawd! @adall (o ol Wlell aadall UgSs lodic *
H

—0.5Btan(45+¢;/ 2)

crit.

G.S.
Za
Soft layer ¢ H Stiff layer ¢ H 9 5lup
oft layer C} iff layerC -C ¢ |
Stiff layer € > Soft layer C >

(a) (D)



12

0.6 <Cr=<13 ol (0w USug C,/C, 989 Cy Jolaoll .

s :0gSy G =1 U=l oo
N, = ‘T‘ + 5.14Cr <514 el pwloW
.0d :
Ne, = 3B L+ 6.05Ck < 6.05 S, pwlwW
Nyi- N3,
AL C A Y I 0.5B .
Nes Nyi+ Naj 2 Nis =414 + d_l (strip)
0gSy € > 1 ulS 13
Noy = 414 + 218 R
d
0.33B |
Ny, = 35.05 + y (round base)
|
Ny, = 5.05 + 2008

2/20/2022



2/20

//‘ff'\ 5
N
Df
5
Hord ]

1D, C uyi ode Ll 2 x| -

}/],C],¢] Layer (1)

75,C2, 05 Layer (2)

/2022



J=dl aan,b

H..; =05Btan(45+¢;/2) rosds S BVl oe oz

s S D g C b Jass H . >H 0SS 1518

crit

«_ Hep +(H oy —H e

c” o H¢] T (H(’i'ff. - H )¢3

¢
H crit. H crit .

Guir. = *NeSed, +qN,S,d, +0.5/BN,S,d, .

14 2/20/2022



Quir. =49p T

p.Pv.K . tan@; N pdjc;

= q;

Af Af

Wl @8Vl oo Jomil 8,08 s b g @ ouillzl H

d,

b

n

‘ I dec
\

| \P, =
|\

I\

qg=19yD
—L‘I'—‘I'—L‘I'— P

10,0 )lad o addaio uy (e w2 Al -
Jo, asb aixig ,lac (b Hlace asb ai=ig Jo, (a

Llell asdall @, cu> H .= 0.5 * B* tan(45+®./2) doud o (2

crit™
_>HOB I3 (2
ayglell aidall GuwlwW acwdl @)l Joxs 8,19 g, Cus>

el asdall GulwW acwilb a5l Joxs 8,48 qp

Soluwg il by=o P ¢
*D ol 2%(B+L)
oo Jgdlidl beall P, e
— il agdall (| pulwdl Jss

L
* B

;\ i
[ ] l:

o —

q'-

A
a)
3 . Y, dz

d + 14,

15 2/20/2022

o

i |pLaveri radUdl adVell (o =g
d
7
dhbby [7* han + ga,
: ! di N ’
i Taver k,=1-sin® a8Mell 0 =g K, °



2/20

0S5 (o, 9l ,lac) D0 «ulS 13| «
qt =¢iNeiSepdey +7]Dqu]Sq]dq] "'0-537/]*7\?;/]5';/]5}}/]

dp = C’_‘)]\"}_?SC__UCIC_') +/](Df +H )N _»S,-d,» +0.5B}/_73\"T:./_75‘V_7d},_7

q2°q2%q:
U9SS (WO pan e Hlac) O, oS 5] @

g, =35.148,(1+ S, +d. )+ y;D 4

qp =5.14S,(1+ S, +d.)+y;(Ds +H)

/2022



P Ui (0 00 BSlouw WS Lliub dac W VLS D] -

ra8Mell (o clwlodd] Jaso doud o °

ciHy + coHy + caHy + -+ + ¢ H,y,
CaV = ‘;‘H
e !

a8Mell o JVI aygly Jasog

1 Hytan¢y + Hrytandp + -+ + H,tan ¢,

tan
> H,;

anV

2>l aab LS wladall go Joleig

17 2/20/2022



11 &J Lo *

P
, &ogu L=6m g B=3rr.1 <.>.>|.2_;| UULfl FRVAC
£ cl=&-77kpa'LM|UHLQSJLMIC)DMLS\1£
« @l ¢=0° =l Joxadl 8,08 Lluus wollaoll
Tm ,.l Z| y = 17.26 kN/m?
< Q-\ = E-‘: d)
\\\?,\c o // N H = (0.5Btan (45° + —)
\ X# (] /7 'F 2
Sl Y <) = 0503 -
< . = 0.5(3)tan45 = 1.5m
o 07 C2=5%= 115 kPa } i1s
N7 Cr=2=-2=15>10
1 77
d, 1.22
B-3
Nl..s = 5.39 Nzﬂ, = 6.89 :~J9|J.2J| U0
0S5 sJLdUg
Ny *Noi oy 539%6.89 0

“ N,+N,, = 539+689

18 2/20/2022



¢ N Ny Ny Ny Ny

0 5.14* 1.0 0.0 0.0 0.0

5 6.49 1.6 0.1 0.1 04
10 8.34 2.5 0.4 04 1.2
15 10.97 39 1.2 1.1 2.6
20 14.83 6.4 29 29 54
25 20.71 10.7 6.8 6.8 10.9
26 22.25 11.8 7.9 8.0 12.5
28 25.79 14.7 10.9 11.2 16.7
30 30.13 184 15.1 15.7 224
32 35.47 23.2 20.8 220 30.2
34 42.14 294 28.7 311 41.0
36 50.55 37.7 40.0 44 4 56.2
38 61.31 489 56.1 64.0 779
40 75.25 64.1 79.4 936 1093
45 133.73 1347 200.5 262.3 271.3
50 266.50 318.5 567.4 871.7 761.3
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Table (3.3): Shape, depth, inclination, ground and base factors for use in Hansen or Vesic bearing capacity equations
of Table (3.1). (1) Factors apply 10 either method unless subscripted with (H) or (V). (2) Use primed factors when ¢=0.

s, =022 =04k
L d =1404k
s‘-1+N‘ - =14+ 2tand.(1-sin$)°k
N_‘t dq 2tan@.(l=smn@)
B
Sq-H-tunQ lor 51
;.1-0_4% k-m‘—L (rad) for 2L > 1

Where
C.- £ = Eccentricity of loud from conter of footing aca
Ay ™ Effectve footing aeas B x L

C, = Adeuon 0 base = cobesion or 2 reduced value
Dy = Depeh of focting (used with B and not B )

H = Horizoatal componcat of load with HEC, Ay + Vimé

V = Towl vertcal load on footing

P = Skope of pround away from base with downward = (v)

§ = Fricuon sngle between base snd soil. wssally O =@ for concrese
on sl

N = Tk aaghe of buse from horisoatal with (+) wpwand as wsual case

1. Donotus S, in combination with i,
2. Canwse S, in combiastion with d,,2,.aad b,
3 reL/BS2 we d,
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V+AC by =cxp(=2 T xtmé/ 180
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VeAC, ot
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